Serie Z8 — Diagramme

1. Total Manner: 3150 : 14 100 = 22'500
Total Frauen: 22'500 : 45 55 =27'500
Frauen von 18-25 Jahren: 27'500 : 100 58 =15'950
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3. 5568 entsprechen 24%
Ja-stimmende Frauen: 5568 : 24 100 = 23'200
Ja-Stimmende: 64% — 23'200 : 64 100 = 36'250
Nein-Stimmende: 36'250 : 58 42 = 26'250

4. a) (12+37+38+44+29+17+07+31+51+48+3+1):12
= 2.95[°C] ; (oder 2 17.7 : 12 = 2.95 [°C])

b) total: 1127 mm pro Jahr
April bis September: 704 mm

x 704 : o
100 1127—>x_62.4667...—>62/o

c) 1127 mm = 1.127m — 1.127 m® = 1127 |



